### Year 1 Note: Uniform Shop open Thurs 30th Jan and Fri 31st Jan 10am to 2pm

Year 1 Room	3 Stationery - Whaea Lucelle			Students: 3
Code	Description	Qty	Price incl. GST	Total Price incl. GST
<b>Essential Item</b>	IS Control of the con			
2450771	OfficeMax Black Pen Style Whiteboard Marker Bullet Tip	2	\$ 2.25	\$ 4.50
2221977	OfficeMax HB Pencil With Nameplate Assorted Colour	4	\$ 0.55	\$ 2.20
2114313	Clever Kiwi Kia Ngahau Te Pangarau 1 Maths Exercise Book 1 Te Reo Maori	2	\$ 2.99	\$ 5.98
2877449	Amos Glue Stick 35g	4	\$ 2.50	\$ 10.00
2524996	Warwick My Topic Book 1 Taku Pukapuka Kaupapa Unruled 100gsm 64	2	\$ 2.85	\$ 5.70
2450240	Warwick My Writing Book 1 Taku Pukapuka Tuhituhi 14mm Ruled and Blank	1	\$ 2.85	\$ 2.85
	64 Pages			
2450259	Warwick My Writing Book 2 Taku Pukapuka Tuhituhi 12mm Ruled 64 Pages	1	\$ 2.85	\$ 2.85
2805189	OfficeMax 1A5 UB Exercise Book Unruled 40 Leaves	1	\$ 0.99	\$ 0.99
1253859	Sharpie Black Permanent Marker Fine Tip	1	\$ 2.19	\$ 2.19
2802449	Liberty Plastic Eraser 50x24mm	2	\$ 0.69	\$ 1.38
2562960	Livi Essentials Facial Tissues Hypoallergenic 2 Ply 200 Sheets	1	\$ 5.27	\$ 5.27
2969998	Kluwell My Home Reading Yellow Level 9780957874541	1	\$ 7.29	\$ 7.29
Journal Bag Lar	ge	1	\$ 9.98	\$ 9.98
Group Not	e: Please select ONE OF EACH colour			
2877120	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Teal	1	\$ 4.99	
2877104	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Pink	1	\$ 4.99	
	·		Total incl. GST:	\$ 61.18

#### Year 1 Note: Uniform Shop open Thurs 30th Jan and Fri 31st Jan 10am to 2pm

Year 1 Room	'ear 1 Room 4 Stationery - Delwyn Isaacs Students: 30				
Subject Note:	Journal Bag for new students only.				
Code	Description	Qty	Price incl. GST	Total Price incl. GST	
<b>Essential Item</b>	S				
2804646	OfficeMax LWB JWB Junior Writing Exercise Book 14mm Ruled 32 Leaves	1	\$ 1.90	\$ 1.90	
2524996	Warwick My Topic Book 1 Taku Pukapuka Kaupapa Unruled 100gsm 64	4	\$ 2.85	\$ 11.40	
2204738	Warwick 1A5 Exercise Book Unruled 40 Leaves	1	\$ 1.09	\$ 1.09	
2877449	Amos Glue Stick 35g	3	\$ 2.50	\$ 7.50	
1136860	OfficeMax HB Lead Pencil	4	\$ 0.69	\$ 2.76	
1950592	OfficeMax Coloured Pencils, Pack of 12	1	\$ 3.99	\$ 3.99	
2883309	Clever Kiwi Topic Exercise Book Interleaved 32 Leaves	2	\$ 2.99	\$ 5.98	
1296825	OfficeMax Vinyl Eraser Large 61x21mm	1	\$ 0.69	\$ 0.69	
2562960	Livi Essentials Facial Tissues Hypoallergenic 2 Ply 200 Sheets	1	\$ 5.27	\$ 5.27	
Journal Bag Lar	ge	1	\$ 4.99	\$ 4.99	
Group Not	e: Please select a colour option from the list				
2877104	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large		\$ 4.99		
	330x360mm Pink				
2868822	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large		\$ 4.99		
	330x360mm Yellow				
2868814	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large		\$ 4.99		
	330x360mm Blue				
2868830	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large		\$ 4.99		
	330x360mm Green				
2868806	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large		\$ 4.99		
	330x360mm Red		·		
2877120	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large		\$ 4.99		
	330x360mm Teal		'		
2868849	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large		\$ 4.99		
<del>-</del>	330x360mm Purple				
	· · · · · · · · · · · · · · · · · · ·		Total incl. GST:	\$ 45.57	

### Year 2 Note: Uniform Shop open Thurs 30th Jan and Fri 31st Jan 10am to 2pm

Year 2 Room	3 Stationery - Whaea Lucelle			Students: 17
Code	Description	Qty	Price incl. GST	Total Price incl. GST
<b>Essential Item</b>	IS			
2450771	OfficeMax Black Pen Style Whiteboard Marker Bullet Tip	2	\$ 2.25	\$ 4.50
2221977	OfficeMax HB Pencil With Nameplate Assorted Colour	4	\$ 0.55	\$ 2.20
2114313	Clever Kiwi Kia Ngahau Te Pangarau 1 Maths Exercise Book 1 Te Reo Maori	2	\$ 2.99	\$ 5.98
2877449	Amos Glue Stick 35g	4	\$ 2.50	\$ 10.00
2524996	Warwick My Topic Book 1 Taku Pukapuka Kaupapa Unruled 100gsm 64	2	\$ 2.85	\$ 5.70
2450240	Warwick My Writing Book 1 Taku Pukapuka Tuhituhi 14mm Ruled and Blank	1	\$ 2.85	\$ 2.85
	64 Pages			
2450259	Warwick My Writing Book 2 Taku Pukapuka Tuhituhi 12mm Ruled 64 Pages	1	\$ 2.85	\$ 2.85
2805189	OfficeMax 1A5 UB Exercise Book Unruled 40 Leaves	1	\$ 0.99	\$ 0.99
1253859	Sharpie Black Permanent Marker Fine Tip	1	\$ 2.19	\$ 2.19
2802449	Liberty Plastic Eraser 50x24mm	2	\$ 0.69	\$ 1.38
2562960	Livi Essentials Facial Tissues Hypoallergenic 2 Ply 200 Sheets	1	\$ 5.27	\$ 5.27
2969971	Kluwell My Home Reading Green Level 9780957874558	1	\$ 7.29	\$ 7.29
Journal Bag Lar	ge	1	\$ 9.98	\$ 9.98
Group Not	e: Please select ONE OF EACH colour			
2877120	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Teal	1	\$ 4.99	
2877104	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Pink	1	\$ 4.99	
			Total incl. GST:	\$ 61.18

/anu 2 Danu	2 Whan Wardy			Chadanta 11
Year 3 Koom Code	2 Whaea Wendy Description	Otv	Price incl. GST	Students: 11 Total Price incl. GST
Essential Iten		Qty	Price Incl. GS1	Total Price Incl. GS1
2977079	My Word Mate Book 3 Green 9780994148087	1	\$ 6.22	\$ 6.22
2629526	Clever Kiwi Reading Exercise Workbook	5	\$ 2.99	\$ 14.95
1253859	Sharpie Black Permanent Marker Fine Tip	1	\$ 2.19	\$ 2.19
2880628	Clever Kiwi Activities Book Blank 100gsm 32 Leaves	1	\$ 2.99	\$ 2.99
1137875	Metal Pencil Sharpener 1 Hole	1	\$ 0.89	\$ 0.89
1015044	BIC Clic Red Retractable Ballpoint Pen 1.0mm Medium Tip	1	\$ 0.85	\$ 0.85
2221489	OfficeMax A4 Topless Pad 50gsm 100 Sheets Lined	1	\$ 2.99	\$ 2.99
2877449	Amos Glue Stick 35g	4	\$ 2.50	\$ 10.00
1115286	OfficeMax Plastic Ruler 30cm Clear	1	\$ 0.69	\$ 0.69
1296825	OfficeMax Vinyl Eraser Large 61x21mm	1	\$ 0.69	\$ 0.69
1136860	OfficeMax HB Lead Pencil	4	\$ 0.69	\$ 2.76
2450313	Warwick My Maths Book 1 Taku Pukapuka Pangarau 10mm Quad 64 Pages	2	\$ 2.85	\$ 5.70
2562960	Livi Essentials Facial Tissues Hypoallergenic 2 Ply 200 Sheets	2	\$ 5.27	\$ 10.54
ournal Bag Lar	ge .	1	\$ 4.99	\$ 4.99
2877120	e: Please select a colour option from the list New Students only  OfficeMax Homework Book Bag Large Hook and Loop Fastener Large		\$ 4.99	
	330x360mm Teal		·	
2877104	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Pink		\$ 4.99	
2868849	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Purple		\$ 4.99	
2868822	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Yellow		\$ 4.99	
2868814	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Blue		\$ 4.99	
2868806	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Red		\$ 4.99	
2868830	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Green		\$ 4.99	
Colouring Penci	Is Pack/12	1	\$ 3.99	\$ 3.99
Group Not	e: Please select an option from the list			<u> </u>
1950592	OfficeMax Coloured Pencils, Pack of 12		\$ 3.99	
1679619	Staedtler Noris Hexagonal Coloured Pencils, Pack of 12		\$ 6.19	
2015366	Staedtler Coloured Pencils, Pack of 12		\$ 11.95	
2876523	BIC Kids Evolution Triangular Colouring Pencils, Pack of 12		\$ 11.99	
			Total incl. GST:	\$ 70.44

Year 3 Note: Uniform Shop open Thurs 30th Jan and Fri 31st Jan 10am to 2pm

Year 3 Room Subject Note:	3 Whaea Lucelle Journal bag for new students only			Students: 4
Code	Description	Qty	Price incl. GST	Total Price incl. GST
Essential Items		44	Trice men do i	Total Trice men do i
2450771	OfficeMax Black Pen Style Whiteboard Marker Bullet Tip	2	\$ 2.25	\$ 4.50
2221977	OfficeMax HB Pencil With Nameplate Assorted Colour	4	\$ 0.55	\$ 2.20
2114313	Clever Kiwi Kia Ngahau Te Pangarau 1 Maths Exercise Book 1 Te Reo Maori	2	\$ 2.99	\$ 5.98
2877449	Amos Glue Stick 35g	4	\$ 2.50	\$ 10.00
2524996	Warwick My Topic Book 1 Taku Pukapuka Kaupapa Unruled 100gsm 64	2	\$ 2.85	\$ 5.70
2450240	Warwick My Writing Book 1 Taku Pukapuka Tuhituhi 14mm Ruled and Blank 64 Pages	1	\$ 2.85	\$ 2.85
2450259	Warwick My Writing Book 2 Taku Pukapuka Tuhituhi 12mm Ruled 64 Pages	1	\$ 2.85	\$ 2.85
2805189	OfficeMax 1A5 UB Exercise Book Unruled 40 Leaves	1	\$ 0.99	\$ 0.99
1253859	Sharpie Black Permanent Marker Fine Tip	1	\$ 2.19	\$ 2.19
2802449	Liberty Plastic Eraser 50x24mm	2	\$ 0.69	\$ 1.38
2562960	Livi Essentials Facial Tissues Hypoallergenic 2 Ply 200 Sheets	1	\$ 5.27	\$ 5.27
2950340	Kluwell My Home Reading Orange Level 9780957874596	1	\$ 7.29	\$ 7.29
Journal Bag Larg		1	\$ 9.98	\$ 9.98
Group Note	: Please select ONE OF EACH colour			
2877120	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Teal	1	\$ 4.99	
2877104	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Pink	1	\$ 4.99	
			Total incl. GST:	\$ 61.18

#### Year 4 Note: Uniform Shop open Thurs 30th Jan and Fri 31st Jan 10am to 2pm

Subject Note:	2 Whaea Wendy Journal bag for new students only			Students: 14
Code	Description	Qty	Price incl. GST	Total Price incl. GST
Essential Item		Qty	Price IIIci. 931	Total Price Ilici. 951
2977079	My Word Mate Book 3 Green 9780994148087	1	\$ 6.22	\$ 6.22
2629526	Clever Kiwi Reading Exercise Workbook	5	\$ 2.99	\$ 14.95
1253859	Sharpie Black Permanent Marker Fine Tip	1	\$ 2.19	\$ 2.19
2880628	Clever Kiwi Activities Book Blank 100gsm 32 Leaves	1	\$ 2.99	\$ 2.99
1137875	Metal Pencil Sharpener 1 Hole	1	\$ 0.89	\$ 0.89
1015044	BIC Clic Red Retractable Ballpoint Pen 1.0mm Medium Tip	1	\$ 0.85	\$ 0.85
2221489	OfficeMax A4 Topless Pad 50gsm 100 Sheets Lined	1	\$ 2.99	\$ 2.99
2877449	Amos Glue Stick 35g	4	\$ 2.50	\$ 10.00
1115286	OfficeMax Plastic Ruler 30cm Clear	1	\$ 0.69	\$ 0.69
1296825	OfficeMax Vinyl Eraser Large 61x21mm	1	\$ 0.69	\$ 0.69
1136860	OfficeMax HB Lead Pencil	4	\$ 0.69	\$ 2.76
2450313	Warwick My Maths Book 1 Taku Pukapuka Pangarau 10mm Quad 64 Pages	2	\$ 2.85	\$ 5.70
2562960	Livi Essentials Facial Tissues Hypoallergenic 2 Ply 200 Sheets	2	\$ 5.27	\$ 10.54
Journal Bag Lar	ge	1	\$ 4.99	\$ 4.99
	e: Please select a colour option from the list			
2868814	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Blue		\$ 4.99	
2868830	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Green		\$ 4.99	
2868806	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Red		\$ 4.99	
2877120	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Teal		\$ 4.99	
2868849	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Purple		\$ 4.99	
2877104	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Pink		\$ 4.99	
2868822	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Yellow		\$ 4.99	
Colouring Penci	ls Pack/12	1	\$ 3.99	\$ 3.99
Group Not	e: Please select an option from the list			
1950592	OfficeMax Coloured Pencils, Pack of 12		\$ 3.99	
1679619	Staedtler Noris Hexagonal Coloured Pencils, Pack of 12		\$ 6.19	
2015366	Staedtler Coloured Pencils, Pack of 12		\$ 11.95	
2876523	BIC Kids Evolution Triangular Colouring Pencils, Pack of 12		\$ 11.99	
	<u> </u>		Total incl. GST:	\$ 70.44

#### Year 5 Note: Uniform Shop open Thurs 30th Jan and Fri 31st Jan 10am to 2pm

ear 5 Statio			15 : : : 665	Students: 18
Code sential Iten	Description	Qty	Price incl. GST	Total Price incl. GST
2524996	Warwick My Topic Book 1 Taku Pukapuka Kaupapa Unruled 100qsm 64	2	\$ 2.85	\$ 5.70
2562960	Livi Essentials Facial Tissues Hypoallergenic 2 Ply 200 Sheets	1	\$ 5.27	\$ 5.27
1115286	OfficeMax Plastic Ruler 30cm Clear	2	\$ 0.69	\$ 1.38
1296825		1	\$ 0.69	\$ 0.69
2221489	OfficeMax Vinyl Eraser Large 61x21mm  OfficeMax A4 Topless Pad 50gsm 100 Sheets Lined	<u>1</u> 1	\$ 0.69	\$ 0.69
2202379		1	\$ 2.99 \$ 4.49	\$ 2.99 \$ 4.49
	OfficeMax A4 Display Book 40 Pocket Black			<u>'</u>
1015044	BIC Clic Red Retractable Ballpoint Pen 1.0mm Medium Tip	1	\$ 0.85	\$ 0.85
2877449	Amos Glue Stick 35g	4	\$ 2.50	\$ 10.00
1015028	BIC Clic Blue Retractable Ballpoint Pen Medium Tip	1	\$ 0.85	\$ 0.85
2221977	OfficeMax HB Pencil With Nameplate Assorted Colour	8	\$ 0.55	\$ 4.40
1137875	Metal Pencil Sharpener 1 Hole	1	\$ 0.89	\$ 0.89
2450321	Warwick My Maths Book 2 Taku Pukapuka Pangarau 7mm Quad 64 Pages	2	\$ 2.85	\$ 5.70
2883295	Clever Kiwi Assignment Book Ruled 80gsm 32 Leaves	8	\$ 2.99	\$ 23.92
1157469	Taurus Protractor 180 degrees 10cm	1	\$ 0.79	\$ 0.79
2204134	Warwick 3B1 Notebook 7mm Ruled 32 Leaves	2	\$ 0.20	\$ 0.40
urnal Bag Laı		1	\$ 4.99	\$ 4.99
	te: Please select a colour option from the list			
2868814	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Blue		\$ 4.99	
2868830	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Green		\$ 4.99	
2868806	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Red		\$ 4.99	
2877120	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Teal		\$ 4.99	
2868849	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Purple		\$ 4.99	
2877104	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Pink		\$ 4.99	
2868822	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Yellow		\$ 4.99	
	·		Total incl. GST:	\$ 73.31

#### Year 6 Note: Uniform Shop open Thurs 30th Jan and Fri 31st Jan 10am to 2pm

Year 6 Stationery Students: 14				
Code	Description	Qty	Price incl. GST	Total Price incl. GST
<b>Essential Iten</b>				
2524996	Warwick My Topic Book 1 Taku Pukapuka Kaupapa Unruled 100gsm 64	2	\$ 2.85	\$ 5.70
2562960	Livi Essentials Facial Tissues Hypoallergenic 2 Ply 200 Sheets	1	\$ 5.27	\$ 5.27
1115286	OfficeMax Plastic Ruler 30cm Clear	2	\$ 0.69	\$ 1.38
1296825	OfficeMax Vinyl Eraser Large 61x21mm	1	\$ 0.69	\$ 0.69
2221489	OfficeMax A4 Topless Pad 50gsm 100 Sheets Lined	1	\$ 2.99	\$ 2.99
2202379	OfficeMax A4 Display Book 40 Pocket Black	1	\$ 4.49	\$ 4.49
1015044	BIC Clic Red Retractable Ballpoint Pen 1.0mm Medium Tip	1	\$ 0.85	\$ 0.85
2877449	Amos Glue Stick 35g	4	\$ 2.50	\$ 10.00
1015028	BIC Clic Blue Retractable Ballpoint Pen Medium Tip	1	\$ 0.85	\$ 0.85
2221977	OfficeMax HB Pencil With Nameplate Assorted Colour	8	\$ 0.55	\$ 4.40
1137875	Metal Pencil Sharpener 1 Hole	1	\$ 0.89	\$ 0.89
2450321	Warwick My Maths Book 2 Taku Pukapuka Pangarau 7mm Quad 64 Pages	2	\$ 2.85	\$ 5.70
2883295	Clever Kiwi Assignment Book Ruled 80gsm 32 Leaves	8	\$ 2.99	\$ 23.92
1157469	Taurus Protractor 180 degrees 10cm	1	\$ 0.79	\$ 0.79
2204134	Warwick 3B1 Notebook 7mm Ruled 32 Leaves	2	\$ 0.20	\$ 0.40
Journal Bag La	rge	1	\$ 4.99	\$ 4.99
Group Not	te: Please select a colour option from the list			
2868814	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Blue		\$ 4.99	
2868830	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Green		\$ 4.99	
2868806	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Red		\$ 4.99	
2877120	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Teal		\$ 4.99	
2868849	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Purple		\$ 4.99	
2877104	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Pink		\$ 4.99	
2868822	OfficeMax Homework Book Bag Large Hook and Loop Fastener Large 330x360mm Yellow		\$ 4.99	
			Total incl. GST:	\$ 73.31

### Year 7 Note: Uniform Shop open Thurs 30th Jan and Fri 31st Jan 10am to 2pm

Year 7 Stationery				Students: 17
Code	Description	Qty	Price incl. GST	Total Price incl. GST
<b>Essential Item</b>	IS			
2891050	FM A4 Display Book 20 Pocket Black	1	\$ 2.50	\$ 2.50
2677172	OfficeMax Blue Retractable Ballpoint Pens 1.0mm Medium Tip	2	\$ 0.75	\$ 1.50
2677199	OfficeMax Red Retractable Ballpoint Pen 1.0mm Medium Tip	1	\$ 0.75	\$ 0.75
2221977	OfficeMax HB Pencil With Nameplate Assorted Colour	3	\$ 0.55	\$ 1.65
2877449	Amos Glue Stick 35g	4	\$ 2.50	\$ 10.00
2809214	OfficeMax Plastic Ruler 30cm White	1	\$ 0.66	\$ 0.66
1296825	OfficeMax Vinyl Eraser Large 61x21mm	1	\$ 0.69	\$ 0.69
2202379	OfficeMax A4 Display Book 40 Pocket Black	1	\$ 4.49	\$ 4.49
2450321	Warwick My Maths Book 2 Taku Pukapuka Pangarau 7mm Quad 64 Pages	1	\$ 2.85	\$ 2.85
2883295	Clever Kiwi Assignment Book Ruled 80gsm 32 Leaves	6	\$ 2.99	\$ 17.94
2562960	Livi Essentials Facial Tissues Hypoallergenic 2 Ply 200 Sheets	1	\$ 5.27	\$ 5.27
			Total incl. GST:	\$ 48.30

### Year 8 Note: Uniform Shop open Thurs 30th Jan and Fri 31st Jan 10am to 2pm

Year 8 Stationery			Students: 15	
Code	Description	Qty	Price incl. GST	Total Price incl. GST
<b>Essential Item</b>	S			
2891050	FM A4 Display Book 20 Pocket Black	1	\$ 2.50	\$ 2.50
2677172	OfficeMax Blue Retractable Ballpoint Pens 1.0mm Medium Tip	2	\$ 0.75	\$ 1.50
2677199	OfficeMax Red Retractable Ballpoint Pen 1.0mm Medium Tip	1	\$ 0.75	\$ 0.75
2221977	OfficeMax HB Pencil With Nameplate Assorted Colour	3	\$ 0.55	\$ 1.65
2877449	Amos Glue Stick 35g	4	\$ 2.50	\$ 10.00
2809214	OfficeMax Plastic Ruler 30cm White	1	\$ 0.66	\$ 0.66
1296825	OfficeMax Vinyl Eraser Large 61x21mm	1	\$ 0.69	\$ 0.69
2202379	OfficeMax A4 Display Book 40 Pocket Black	1	\$ 4.49	\$ 4.49
2450321	Warwick My Maths Book 2 Taku Pukapuka Pangarau 7mm Quad 64 Pages	1	\$ 2.85	\$ 2.85
2883295	Clever Kiwi Assignment Book Ruled 80gsm 32 Leaves	6	\$ 2.99	\$ 17.94
2562960	Livi Essentials Facial Tissues Hypoallergenic 2 Ply 200 Sheets	1	\$ 5.27	\$ 5.27
		•	Total incl. GST:	\$ 48.30